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15 O0oodooooogoboobooot

K00O0OOO Q0000 R 00000 COO000000,K000 (100)
00000 K[X](00OOO)0000. 0000000, K[X]00o0o00 7000
()(i)00O0O000,I0 K[X]00O0O00000:

()000 f(X),¢X)elID000 f(X)+g(X)el,

(i) D00 r(X) e K[X], f(X)e I 0D0D0 r(X)f(X) €I
K[X]0O0O0OOOOO0O0OOOO0O0OO0O0OO0000000000,000000 (00
112) 0000, K[X]00000000000000000000000000 (O
00 {nX |nez}0000000 K[X]00OOOO00O,00000000).

FUX),... fa(X) e K[X]ODOOO

I(f1(X), o fu(X)) = {1 (X) (X)) 4+ 4+ gn(X) fu(X) [ 92 (X), ., gn(X) € K[X]}

0 K[X]ODOOOODOOO. 000 f(X),....((X)000000000000. O
O, I(fu(X),.... fu(X)) O (fu(X),.... fu(X)) OO0 (fu(X),.... fu(X))DODOOO
ooooo.

00,0000000,K[X]00000000 /000000 d(X)eK[X]OO
00,7=I(d(X)0000 (000000 2.18). fi(X),...,[o(X) e K[X]0DOOO

I(A(X), - (X)) = 1(d(X))

000 d(X) 000 (000000000000)000000000000000
000000000,00 dX)0 fi(X),...,f(X) 00000000000 (00
0oo 2.19).

00,00 (a), (b), () 000000O:

(a) f1(X),...,fo(X) 0000000 1000,

(B) s1(X)AX) + - + 5o (X)fu(X) =1 000 s1(X),...,s.(X) € K[X]ODDOD
0o.

(€) I(fi(X),..., fu(X)) = K[X].

0000000000,000000000,0000000000000000
00000000, 0000000000 f(X),¢(X)0000000,00000
0000, I(f(X),¢(X)) 0000 0000000000000000000000
f(X),¢(X)0DODOO0O0O0D0000.300000000000,2000000000
00000000000000000000.

000000 http://www.math.tsukuba.ac.jp/ amano/lec2012-2/e-algebra-ex/index.html



00 15.1 00000000000000,0000000 f(X),..., f.(X) € QX]
0000000000,



